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s 4 JZIR e A il PE5E SR £
1 % 5] b it PR BT TR iR 2 s
2 T i+ IR A8 TR B b iR 2 L
3 ERLTES i PR BT TR Hh i 2 fi - akdy
4 23 {4+ R I TR B Hb i 2 =g
5 NP i PR S EE TRE R Hb i 2 =y
6 B i+ PR A8 TR AT Hb i 2 =g
7 Xl fifi - PR 5B TR Hh i 2 fifi - — %53
8 KM fifi+ PR S5 TR b 5T U5 R TR i+ — %2
9 ik fifi+ PR BT TR IR 5 TR fifi - — %53
10 S fifi+ PR G TR B WEERLE S T fifi -t — %2
11 A fifi - VIR 5 IR TR PR 5B fifi - — %53
12 B R fifi+ PR G TR B P 8 fifi -+ — &
13 B S fifi+ PR 5B TR PR 5B fifi - — %53
14 R fifi+ R G TR P 5 it — &
15 XIS iin PR A TR 2R iR 2 L e 4
16 T it TR TR b HhT % Wit %2
17 Z=Y| i+ VIR 5B TR AR iR 2 L) e 4
18 HE K fifi+ BRI TR B Hb i 2 [ e 4
19 TR fifi+ VIR 5 IR TR bR P95 bR TR L e 4
20 Wik fifi+ R A8 TR AR b 57 B U5 R TR LS
21 Z5PE fifi+ VIR 5 IR TR bR B b TR L e 4
22 SLa/E] fifi+ R A TR A b5 B 5 H5T TR Wit — sz
23 Xk fifi+ VIR 5 IR TR B WERES T L e 4
24 ST fifi+ BRI TR B WhiRbE S TR LS
25 A &1 fifi+ PR BT TR WERHES T it — e
26 Ak fifi+ PR G TR B WEiRLE S TR LS
27 Tk fifi+ PR BT TR WERHES T fifi - — 4
28 Tk fifi+ W T B e A HER S TR it — gz
29 ZE PR fifi+ PR BT TR RSB L e 4
30 ABE R fifi+ R I TR B P 8 LS
31 Filk fifi - PR BT TR RSB it — e
32 T fifi+ PR A8 TR AT P 8 LS
33 JE R fijl L VIR 5 IR TR R 5B it — g
34 FEIAF fifi+ PR S5 TR B P 5 TS
35 AL fiil -+ PR BT TR PR 5B fifi+ — 40
36 B fiil -t IR A8 TR AR P 5 fifi -+ — &
37 A% fifi PR BT TR RSB fifi+ — 450
38 i fifi+ PR G TR P 5 TS
39 a4 fiil -+ W TR T S0 R 5B fifi+ 450
40 il fifi+ R G TR B Hb i 2 Wit =&z
41 JAYEH i+ RS A TR 2R iR 2 it =40
42 VERKIE fifi+ PR A TR B Hb i 2 T+ = 4
43 SR i+ VIR 5 IR TR iR 2 it =40
44 B fifi+ BRI TR Hb i 2 T+ = 4
45 [ fifi+ VIR SR TR Hh R 2 it =40
46 kAT fifi+ R A TR AR Hb i 2 T+ = 45
47 TER fifi+ VIR 5 IR TR iR 2 it =40
48 I fifi+ PR A TR B b5 B 5 H5T TR T+ = 45
49 R fifi+ VIR 5 IR TR iR 7R b TR it =%




50 Z it WIS TR T YR S o R b =442
51 B fi -t B SHIRE TRE bR HT B 3t o TR | =454
52 & fit: WIS TR T YR S o R il b = 4542
53 BB i+ PRSI TR bR BT B 3 o TR L =454
54 AT fiit WIS TR 2B T YR S o R il b = 2542
55 Ef3 i+ PRSI TR bR T B 3 o TR il -f =454
56 Lz fil+ PRSI B WEIR S TR il b =45 42
57 ZIH i+ PRSI TR bR HEFRE S TR | =454
58 ZriE fii+ WS TR BB S TR il L =45 42
59 HKTE i+ PRSI TR bR HEFRE S TR il -F =454
60 P R i+ PRUR S B TR B WEIR S TR fji b = 4542
61 EEFS i+ BIRS IR TR bR HEFRE S TR Tt = 2542
62 AR i+ PRUR 5 M LR B WEIR S TR i = 4542
63 EAE i+ e HERRES TR Tt = 2542
64 KEZ i+ PRUR S M TR B BRSO ik = 4542
65 P i+ PRSI LR bR WS TR Tt = 2542
66 A i+ PRUR S B TR Bt BIRSH 5 i = 4542
67 K fh i+ I R R S PR SR Tl b = 4542
68 B%k i+ PEUR S M TR Bt BRI S5 fji L = 4542
69 LEED i+ B SHI TRE bR PR SR Tl f: =454
70 1A fiii+ RIS TR BIRS 5 il b =45 42
71 FVE i+ PRSI LR B PR SR Tl b =454
72 AR fiil+ ST BIRS 5 b = 4542
73 B3 i+ PRSI TR bR RS | =454
74 ES fii 1 WS TR A WIS il b =45 42
75 e i+ PRSI TR bR PSR | =454
76 i it WIS TR WIS il L =45 42
77 W= i+ B SHIRE TRE bR PSR | =454
78 Pitieye it WS TR WIS il b =45 42
79 TR fit: PRSI TR bR PR S L =454
80 FKIE A fiii+ WIS TR 2B WIS il b = 4542
81 R i+ PRSI TR bR PR S | =454
82 AL fii+ PRSI TR B WIS il b =45 42
83 gk i+ PRSI TR bR PR S | =454




